Fairfield GR 5 U1 Assessment B KEY

Name __________________________________ Date ______________________
A. The rectangular prism shown has 3 layers with 14 cubes in each layer.  
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3 x 14 = 42 cubic units
What is the volume in cubic centimeters of the rectangular prism? 42 cubic units
B. A box is 8 feet long, 2 feet wide, and 6 feet high.

1. Find the volume of the box.  Include correct units.
8 x 2 x 6 = 96 cubic feet
2. Find the dimensions of a different box with the same volume as this box.  Explain how you know that the volumes are the same.

Length _______
Width _______
Height ________

2’ x 2’ x 24’ 


2’ x 8’ x 6’

2’ x 3’ x 16’


4’ x 4’ x 6’

2’ x 4’ x 12’


4’ x 3’ x 8’

Sample Explanation: I know that (8 × 2) × 6 = (6 × 2) × 8 because I can change the order and grouping in multiplication and still get the same product (using the associative and commutative properties of multiplication). It is acceptable for students to use “layers” and “rows” in their explanation.  Or, I know the product of three factors, (L x W x H = volume) and the volume is 96 cubic feet.  Therefore the three factors must equal 96 ft³
C. Determine whether each equation can be used to find the volume of this rectangular prism.  Check yes or no.
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	Yes
	No

	V = (4 + 8) x 20
	
	

	V = 32 x 2
	
	

	V = 4 x 4 x 2
	
	

	V = (8 x 4) x 2
	
	


D. Does rectangular prism A or B have more volume or are they the same?  








5 x 4 x 3 = 60 cm³


2 x 3 x 8 = 48 cm³
3. How do you know?

Answers may vary.  A is 12 cm³ more volume than B. 
E. What is the volume in cubic centimeters is the rectangular prism?
_______
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4 x 3 x 5 = 60 cubic cm
Find the dimensions of a different box with the same volume as this box. Explain how you know that the volumes are the same. 

Length _______
Width _______
Height ________

15 x 2 x 2 
5 x 6 x 2
10 x 3 x 2
See number 2 on first sheet for explanation. 
F. Determine whether each equation can be used to find the volume of this rectangular prism.  Check yes or no.

	
	Yes
	No

	V = (10 x 4) x 2
	
	

	V = 2 x 40
	
	

	V = 10 x 4 x 5
	
	

	V = (4 + 10) x 2
	
	


G. A box is 5 feet long, 3 feet wide, and 6 feet high. 
Find the volume of the box. Include the correct units.  5 x 3 x 6 = 90 cubic feet[image: image2.png]
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